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|. Vocabulary: Choose one best answer for each item. (20% )

1. The boss gave a(n) reply after being asked an inappropriate questtdhe staff
meeting.
(A) innate (B) essential (C) terse (D) primitive

2. Many students living away from home suffer frealing extreme during their first

year at college.

(A) isolation (B) self-justification (C) fluctuatio (D) fortification
3. The professor made the main of the theory clear for the students.

(A) optimistic (B) refuge (C) modification (D) coapt
4. Children with disabilities often suffer in schools.

(A) contingencies (B) radiation (C) predation (Digmation
5. People who suffer from migraine headaches dfee@ an exaggerated to light and

sound.

(A) analysis (B) impact (C) sensitivity (D) potetti
6. The owner of the coffee shop was very to all of her customers.

(A) amiable (B) essential (C) conscientious (Dhoagenic
7. University is very high, so it can be a problem for some fe=op

(A) tuition (B) buildings (C) money (D) students
8. Most parents are very proud of their children’s

(A) arrogance (B) bitterness (C) accomplishments ) f{billment
9. Some students are very and do not worry too much about their studiestaed

future.

(A) alien (B) independent (C) carefree (D) neutral
10. The professor got confused easily and often forgonidmes of his students.

(A) intelligent (B) absentminded (C) progressive ) (Idtidy
Y1 H T
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II. Grammar: Choose one correct answer for each item. (20% )

11. The speed of communication nowadays, as opgogedt of many years ago, has greatly
changed the way is conducted.
(A) in which business (B) what business
(C) business it (D) business which

12. Professor Smith never misses a class evenhhweig a book currently.

(A) wrote (B) writes (C) was writing (D) is writing
13. The recreation center in that town is veryand can no longer serve the needs of the
community. A new recreation center years ago.
(A) must be built (B) should have been built
(C) could build (D) has been built
14. Having worked with the elderly for over ten gggaMs. Chang knows to behave
kindly and thoughtfully towards them.
(A) how is it important (B) it importantly
(C) it is how important (D) how important it is

15. The members of our community have organizeshantunity watch program for the purpose

of combating the crime rate.
(A) risen (B) rose (C) rises (D) rising

16. If certain drugs were taken together, they a person to become extremely ill.
(A) cause (B) causing (C) could cause (D) will ;aus

17. Not being able to speak the language of thatcpwhich we were visiting, we had difficulty
making ourselves

(A) understand (B) understood (C) understanding téD)nderstand
18. Don't forget to do good deeds and to share you have with those in need.
(A) what (B) that (C) which (D) whose
19. Overhead windows into the roofs of some houses to let in extra Bumes These
windows are called skylights.
(A) are putting (B) have put (C) are put (D) pudtin
20. The largest volcanic eruption occurred in 1815.
(A) to record historically (B) that recorded histally
(C) to be historically recorded (D) to historicablg recordin
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I11. Cloze Tests
Passage 1 (10%)

Every year, many women, and some men, undergo izlsatled “Asian eyelid surgery.” In
Taiwan and Korea, it is common to see advertisesnent 21 the surgery. It is SO common
one has to shop around a bit 22 where to have it done. There are also different23
to choose from. One of them is to have the surgdaee stitches 24  one would like
one’s lids to fold. Another is to both place stéshand remove fat from under the eyelids.

Some girls who do not wish to go through surgeyyther means. One of these is pushing
up the eyelids with a small fork and spreadinggpament glue on them. Once dry, the glue forces
the skin in front of the eyelid back and 25 a “double lid.” Although many people are
changing their looks this way, the majority prefgdrat they know best: their natural looks.

21. (A) to (B) in (C) with (D) for

22. (A) before deciding (B) before his decision &iter he decides (D) after he will decide
23. (A) qualification (B) procedures (C) institut® (D) headquarters

24. (A) where (B) which (C) that (D) how

25. (A) creating (B) to create (C) creates (D)rsating

Passage 2 (10%)

Technology improves daily, 26 us exciting products that let us do things we mayeh

thought impossible. One of those things might lelneg entire books on your cell phone.
27 _ to your phone’s email box via the Internet, celbpk novels were first seen in

Japan back in 2003, and they’re now a multi-milicbollar industry.

In Japan’s fast-paced society, cell-phone novétsvapeople to catch up on some of the
classics that they may have missed or read bo@ksthy be 28 too embarrassing
to buy. It is also a convenient way to read sineegbe always carry their cell phones with
them but rarely have a book handy.

It is not just avid readers 29 like cell-phone novels; lesser or unknown writars
finding a new chance at fame through this mediuhe previously unknown Japanese writer,
Yoshi, authored Deep Love for the small screen. Adnel quickly rose_ 30  popularity

to become a TV show, comic book, movie, and a "rbabk which has sold some 2.6

million copies.

26.(A) giving (B) gives (C) given (D) give

27.(A) Delivers (B) Delivered (C) Deliver (D) Delivarg

28.(A) viewed (B) regarded (C) thought of (D) congield

29.(A) whom (B) which (C) what (D) that

30.(A) by (B) for (C)in (D) with
Y3 H T
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V. Reading Comprehension (40%)

Passage 1

When Lawrence H. Summers, the president of Harvamde suggested that one factor in
Women's progress in science and mathematight be innate difference between the
sexes, his comment elicited so many fierce reasttbat he quickly apologized. But many
people were left to wonder: Did he have a point?

Researchers say there are mncies retne® and womesr in their attitudes
toward math and science, in the architecture af thrains, and even in the size of their
brains. Neuroscientists have shown that women’sbrare about 10 percent smaller than
men’s, on average, even after accounting for womeomparatively smaller body size.
Throughout history, many have cited s{ich anatofréstinctions to support hypotheses that
favored men’s superiority in intellectual capacByt for others, these assumptions merely
reflect the prejudices of the time.

In an international standardized test administéme2D03 by the international research group
Organization for Economic Cooperation and Developinte 250,000 15-year-olds in 41
countries, boys did moderately better on the mattign in just over half the nations. For
nearly all the other countries, there were no gigant sex differences. Interestingly,
everywhere girls participating in the survey exgegkfar more negative attitudes towards
math. As a result of these findings, many reseaschee convinced that neither sex has a
monopoly on basic math ability, and that culturthes than chromosomes explains any gap in
math scores.

The cultural factor also impacts differently infdifent countries. Yu Xie, a sociologist at the
university of Michigan, said among Asians peoplehatalk about having a gift for math or
anything else. If a student comes home with a goade in math, he said, the parents push
the child to work harder. “There is good surveyadsitowing that this disbelief in innate
ability, and the conviction that math achievemeart be improved through practice,” Dr. Xie
said, “is a tremendous cultural asset in Asianetgcand among Asian-Americans.” So many
people argue that it is unnecessary to invoke ‘tiankfferences” to explain the gap that

in fields like physics, engineering, mataécs and chemistry.

31.Which does not belong to the “innate differencestileen the sexes?
(A) the architecture of the brain (B) the size loé brain
(C) the attitude toward math and science (D) chreonwes

32.“Lagging progress in” science and mathematics means science and mathematics.
(A) slower development in (B) lasting prejudiceoab
(C) lazier attitude towards (D) latent potentiait f
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33.“Discrepancy” cannot be replaced by:
(A) disparity (B) difference (C) dissimilarity (Deference

34.The “anatomical” distinctions relate to the features.
(A) archaeological (B) anthropological (C) biologjic (D) discriminative

35.Which of the following statements is true?
(A) Boys in 15 countries did better in math subjedthe test.
(B) The test is designed differently to fit evergrpcipating country.
(C) Teenage girls usually like math than boys do.
(D) The test disapproved the innate differencewéen the sexes as a decisive factor
in math score.

36.“Neither sex has a monopoly on basic math abiliti#gt is to say:
(A) Boys and girls have similar potentials to stumsth.
(B) Neither boys nor girls feel satisfied by bamath ability; they both are eager to learn
more.
(C) Neither men nor women have a liking for math.
(D) The result of the test turned out to be negator both boys and girls.

37.With regard to Asians, which statement is true atdiog to this passage?

(A) The parents are merciless in children’s tragnin

(B) They are so humble that they don't like to bedgput their children’s talents in any
aspect.

(C) The parents believe that doing regular exerdilse jogging or biking, can improve their
children’s academic performance.

(D) They believe that it is more one’s diligencarihgenetic disposition that brings about
achievement.

38.A gap “persists” in certain fields; that is to say:
(A) A problem occurs in these fields.
(B) A discrepancy has existed for a long time iesthfields.
(C) A phenomenon is perceived in these fields.
(D) A break widens in these fields.

Passage 2

Were it not fof Diyarbakir, and the eager captaimed Gregg Popovich who served on the
military base there in southern Turkey during thdye1970’s, the Spurs might never have

crossed the international dateline to get to tH&.Alfinals today.

Popovich, who majored in Soviet studies at theFairce Academy, enjoyed traveling as much as
he loved basketball. So when a general told hiry @aihis tour to leave his counterintelligence
work and go on temporary duty for the United Stétesed Forces basketball team in Eastern

Europe— Popovich found a permangnt calling.
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He took his curiosity and appreciation for foremntures with him acy, and it has paid
dividends now with the Spurs. In games againsSihvdet Union before the fateful 1972
Olympics, and against countless others from Estduwitvia, Yugoslavia, Popovich developed his
worldview that helped bring memorable names ta\tHigA. The Spurs have the most diverse
roster in a league increasingly populated by irtéomal players: Popovich's tedm flies the flags
Argentina, France, Slovenia, New Zealand, Vinglands and the United States.

39.What was Popovich doing as he was reported byattide?
(A) a captain (B) an intelligence agent (@pach (D) a basketball player

40.Which event took place earliest in Popovich’s life?
(A) He served on the military base in Diyarbakir.
(B) The Spurs won the N.B.A. championship.
(C) He played games against the Eastern Europearste
(D) The Soviet Union beat the United States in@hempics.

41.“Were it not for Diyarbakir” could be paraphrasede:
(A) Only if there is Diyarbakir (B) If there wereewer Diyarbakir
(C) Given that there is Diyarbakir (D) Even if teas Diyarbakir

42.The Spurs “crossed the international dateline’s theans:
(A) They took international flights to foreign cdues.
(B) They won favor from many foreign fans.
(C) They recruited foreign players.
(D) They played games against foreign teams.

43.Popovich found a permanent “calling”; this means:
(A) He signed a labor contract for life.
(B) He settled down permanently in Eastern Europe.
(C) He heard an inner voice calling him as if tcalten him.
(D) He had a strong desire to do a particular kihaiork.

44.Someone takes something as “currency,” which cbaltest replaced by:
(A) asset (B) cash (C) circulation (D) trend

45.Spurs “flies the flags of” many countries; this mgea
(A) They hang the flags of many countries.
(B) They recruit players from many countries.
(C) The have an international fan base.
(D) They welcome the spectators from many countries

Passage 3

Early museums were churches. Many worshipers edjoiaving the furnishings and
decorations. The artwork, paintings, and sculpturexe| a glimpse info the culture and past of the
church and the people that attended it.

BT6F s H 7T
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During the 1400’s and 1500’s, European explorergeied to North and South America, and East
Asia. On their travels they brought back samplesniinals and plant life. They also managed to
bring back objects made by the local people. Magppe began collecting the items that the
explorers brought back from their trips abroad.yftweuld place these collections in large

cabinets. These cabinets were in narrow roomsccghderies. These were early museums that
showed collections of artifacts.

In 1683 at Oxford University in England, the fimiblic museum opened its doors. The
Ashmolean featured a collection of rare and strafgects that had been collected by an English
scholar. People traveled from miles around to wieese objects and it was|an instant success.
Since these early museums, many things have chahfpst museums are still places to display
art and scientific discoveries, but there are mamyue ones that have been established over the
years. The famous Madame Tussard’s mueﬁ;gures of a variety of historical
figures, celebrities, and well-known members ofistyc There is even a museum all about the
history of sex located in New York City.

46.Which statement is true?
(A) The article indicates that Madame Tussard’senusis located in New York City.
(B) The Ashmolean displays the history of sex.
(C) The first public museum in history is a church.
(D) Galleries are cabinets in narrow rooms displgygollections of art or oddities.

47.Church decorations give “a glimpse into” previousiures; this means:
(A) They offer a brief view into previous cultures.
(B) They provide an in-depth cultural tour into yius times.
(C) They reveal some secrets hidden in previousiias.
(D) They shed light upon the so-far unknown ardssiaprevious cultures.

48.Which among the following items has not been memtibby the article to be ever displayed
in museums in the history?
(A) Wax figures of celebrities.
(B) Assortment of animal specimens.
(C) Rare books collected by English scholars.
(D) Paintings and sculptures by artists workingdiourches.

49.The Ashmolean was an “instant” success; this means:
(A) It was successful only for instants.
(B) The success of this museum resulted from te&naneous reactions it received from
the spectators viewing the artifacts.
(C) Instantaneity of the Ashmolean exhibitions weskey to its success.
(D) It got successful instantly.

50.The verb “showcase” could be best replaced by:
(A) preserve (B) collect (C) display (D) accommaat
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(A) WL PRI} SRR
(B) sy#Pff > % o Ryas
(C) &= f’ﬂ @%
(D) '] H477F
7. AR YRR RIS P H R R > T e 2
CA) DT BT R SE S Fll il P AR Y
(B) T r{Fe [ [ELFip ™ S Lt Jpﬁr-’?iraﬁ DR R
(C) PRI RS S p IR WL%{T@JFA’{% PHEY
(D) eIl 2 E o sy NI Fffﬂ%ﬂ%ﬁ?@ b
8. ] [H=TRL= o IRV > F$570]1£525,000 ~ 28,000 ~ 30,000 + | I - g
(e TP - %ﬁ PR pﬁg&«ge&it L %)
(A) 600,000
(B) 672,000
(C) 720,000
(D) 1,992,000

9. Elﬁ il F[I%;L%FPU (life-cycle model) Fi' 51 » JPN Beffh e = f & ~ [ 10 S g
» FIIp E(EHIE&'*J[f‘?\T}% A F ‘Fﬁ'i’[‘l’ﬁ ?
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10.F)™ fﬁ%ﬁﬁﬁﬁﬂﬁ? A fE A 53 PR SR [ 2
(A) K3ERT (progressive tax )
(B) S} (regressive tax )
(C) &t (proportional tax )
(D) H#EAT (lump-sum tax )
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1. % HJ ST ISR [F[F B & 3l FASIpnAEL (J- curves)tﬁiﬁaf?ﬂﬁ&% FYRUR © (109 )
2. TP A R B (109)

(1) R (5 #{ 2
@) RLASBH frf (P) Ehedl (Q) 2

3. %%ﬁﬂﬂ*,i{'?ﬁi’? ( Classical School ) == (REmZ)T ( Keynesian School ) F'EﬂEIfJT~ 2
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C=300+0.75 (Y-T) T=40+0.2Y I=400+0.1Y
G=200 X=150 M=50+0.1Y
Ol

C : consumption T @ tax | @ investment
G : government expenditure X : export

M : import Y : GDP

(1) i FEyE-F 19§ GDP 2 (5%)
() 17 5T iRY 9 GDPRL2500 » GfI7 ¥ [FASia 12 (5%)
@) FET 21 BB bt 17 (5%)



